Aqua 1

Searvice - Qualify - Value

SLIDING WETROOM, ENCLOSURE&RECESS
INSTALLATION INSTRUCTIONS www.aquaiproducts.co.uk

Note: This instruction shows the installation process for all of our Glide configurations, please check below
which pages are relevant to your configuration before commencing work.
The same aftercare procedure is applicable to all configirations, this can be found on page 27

/' N 7 i o i
Sliding Wetroom Sliding Door Recess Sliding Enclosure
pages1-8 pages9 - 15&25 pages16 - 24
= ‘ - - - ) ._'E'.-'_.F:_ N 7 i~ o ; ;--1
# et e ——— - “
“---*"‘-_._’__ B L]
I Optional
T — Corner Post
| e | | i page 26
— T‘“-“-:f._n__‘r___\_ __\__‘:J f____:-'.- r—'—:T_.____:___ :___-._:1-5 . E '\.“.‘q hq‘)ﬂ e
9 o N\ kel J
Tools Required Please note hand tools NOT supplied
e — g ]
| PH2 TYPE
E—
Sealant Gun |i\ Hex Wrench Screwdriver
6mm Masonry Dirill
2.75mm HSS Drill et
Spirit Level
Pencil

Tape Measure

IMPORTANT

This product should be installed by a suitably qualified and proficient person. The fitting instructions should be
followed carefully to ensure a proper and safe installation. Failure to follow these instructions could result in future
injury.

These instructions and list of parts assume that installation is done against solid/tiled walls.

Please check this product for damage prior to starting the installation. No claims can be made after the product has
been fitted.

PLEASE NOTE :The minimum and maximum adjustment sizes noted on the product brochures are based on
perfectly plumb walls and trays.

USE SAFETY EYE-WEAR WHEN DRILLING



SLIDING WETROOM INSTRUCTION

|  COMPONENTS AND BOX CONTENTS |

ST Screw 4x40

5 6 31302928 222324
i 25
26
1 _ 27 |
L i 21
2 il ||| 32
- e B . 1::-;“ 33
~ I -H_R'“‘*—
~— A
7
3
h.,
8 -~
@ 20
9 -
S
10 =3
11
12 e
o g 19
13 .:"' 18
I 17
it 16
' 15
Box Contents
' No. Description Qty No. Description Qty
1 WallProfile TopCap 2 18 Bottom RailEndFixing Screw Cap 1
2 Wall Profile 1 19 Roller Set 2
3 Fixed Panel 1 20 Handle 1
4 Door Panel 1 21 Support Arm Wall Fixing 1
5 Closing Bubble Seal 1 22 ST Screw 4x30 1
6 Fixed Panel Fixing Seal 1 23 Allen Grub Screw M5x6 1
/ Vertical Seal(O ptional) T 12 Wall Plug !
8 Wall PlUg 4 25 Glass Clamp 1
9 ST Screw 4x30 4 26 Grub Screw M5x6 1
10 Bottom Rail End Cap (L/R) 2 Grub Screw M10x6 !
" Bottom Strip 1 28 Soft Head !
12 Bottom Rail 1 :233 Grub Screw M10x6 1
Bottom Strip End Cap Stopper Screw Cover
12 Bottom Rail End Fixing Soft Head 1 2; Roller Stopper(L/R) f
16 Wall Plug ) 33 Support Arm Tube ]
17 Bottom Ra" End Fleng(L/R) 1 G|ass C|amp Screw Cap




FIXING KIT COMPONENTS, SITE CONDITIONS

r N
T Support Arm x1 e il
; = Wall Profie Top Gap - Roller Cover Cap CIosmgBubee Seal
e — =
—
Long Bar x1 =======-=--- = |®
oot — e @00
Z_d-_"*‘] Han dle Bottom Strip End Cap Bottom Strip End
Support arm glass clamp x1 q”[ x1 L/IR x1 Fixing  x1
Wall Fixing x2 - - === ------- [' 3':| %4‘ i iy
Allen Screw M5 x1 --------- =]
Screw ST 4X30  Screw ST 4X40  Wall Plug  Fixed panel Fixing
- x5 x1 X6 Sealxl
Allen Screw M6 x3 = = = == === = @
s W e e
Allen Screw M10 x1- === - -- =] 7 ﬁ-l'[{=""' oo ['r . 'i
TPiece X1 «ecvmacannnnnn @ - e, l—_~ o wd | L =
= Roller Stopper RollerStopper L/R Soft head
Glass Clamp Cover Cap x1 - - - "“;-] Cover Cap x1 x1
=i x1

IMPORTANT - Missing Components
Pleasecheckthisproductformissingcomponentsprior to installation.

For spare parts visit www.aquaiproducts.co.uk

IMPORTANT - Installation site
1. Ensure the topsurface ofthe shower tray on which the enclosure will be installed is level in every direction.
2. The tiles or other wall finishing should be effectively sealed at tray edges.

3. Tiles should extend at least to the corner of the tray and a minimum of 2.0 meters from the top of thetray.

PROCEDURE

-_;:1}\1:-,-5-“':""‘ TRAY MUST BE 100% LEVEL IN ALL DIRECTIONS

Ensure the shower tray is leve! in all directions and is
properly sealed to the wall. The wall musl be liled down to
the top edge of the fray. Do not angle out bottom tile.

TRAY MUST BE SEALED FULLY AROUND WHERE THE
TRAY MEETS THE WALL.




pueH ya7

pueH Jybry

Note:The product can be constructed either way up, for left or right hand opening.This instruction is showing a Left

\_ hand opening P,
4 N
1.2 |, 1.3
S "t
: 1 | \
i e *
10 '

L S

Step 1.1 Fit the Bottom Rail End Cap L/R (Part 10) on the wall profile (Part 2) from the bottom. Place the Wall Profile onto
the tray, roughly 10mm away from the front edge of the end cap. Level the Wall Profile using a spirit level then
mark the profile through the pre-drill holes on the Wall Profile. (Diagram 1.1).

Note:  Ensure the channel with the pre-drill holes is facing outwards when placing the Wall Profile onto the tray.

Step 1.2Remove the wall profile and drill the marked points using a 6mm masonry drill bit.(Diagram 1.2)

Step 1.3 Insert wall plugs(Part 8) then secure the wall profile onto the wall using ST4X30 screws x4 (Part 9)(Diagram 1.3)



Outside

Ei ——— r_ ‘
Fixed Panel/Face Inside é-zomm adjustment

S

L S/

Step 2.1 Carefully lift the fixed panel (Part 3) and insert into the wall Profile groove,it allows 0-20mm for the adjustment.
Once the fixed panel is in required adjustment, place the bottom strip(Part 11) onto the tray and mark a line
onto the profile. Cut the profile through the marked line to get required length.(Diagram 2.1)

Step 2.2 Remove the fixed panel then replace the bottom strip (Part 11) onto the tray, ensure the bottom strip groove is
level to the wall profile groove on the inside face (Diagram 2.2A). Mark the line on the tray for the bottom strip
position once you have ensured it is straight. (Diagram 2.2B)

Step 2.3 Drop the silicone sealant onto the bottom side of the bottom strip,take the 3M adhesive tape back away then
carefully place it onto the tray against the marked line.(Diagram 2.3)

Step 2.4 Drop the silicone sealant into the groove of the bottom strip(Diagram 2.4) then carefully lift the fixed panel
and insert it into the bottom strip then push it onto the wall profile.After the fixed panel has been placed at the
required position insert the fixing seal from top to bottom to secure the fixed panel onto the wall profile.
(Diagram 2.5)



Step 3.1 Insert the bottom rail (Part 12) into the end cap (Part 10) (Diagram 3.1) .
Step 3.2 Ensure the bottom rail is level and straight then secure it onto the tray using the bottom rail end fixing(Part 16)
and screw ST4x40(part 17).Then insert the black soft head into the hole on the bottom rail end fixing(Diagram 3.2)
Step 3.3 Assemble the bottom rollers onto the door panel.Ensure the gasket has been used on both faces of the glass.
Step 3.4 Carefully lift the door panel and assemble onto the bottom rail, fit the glass clamp(Part 25) to hold the fixed
panel and door panel in place.

IMPORTANT:TURN THE ROLLER BODY TO ENSURE THE EDGE OF THE CUT ON THE ROLLER BOTTOM DOES
NOT TOUCH BOTTOM RAIL TOP SURFACE BEFORE SLIDING THE DOOR PANEL

'3 i

% A

Step 3.5 Adjust the roller to raise or lower the door panel to ensure it does not touch the ground or tray(Diagram 3.5),
also ensure that the overlap of the fixed panel and door panel is equal at the top and the bottom.Slide the door
panel to ensure it’s running smoothly.

Tips:If the door panel does not run smoothly please check that the bottom rail is 100% straight,and check that the
wall profile is 100% level.



LS /

Step 3.6 Ensure the glass clamp is in about 10mm away from the fixed panel edge(Diagram 3.6) then attach it onto the
fixed panel using M10 x6 grub screw(Part 27)

Step 3.7 Fit the support arm wall fixing onto the support arm bar and place it onto the wall in required position.Measure
the dimension from the glass clamp to the wall fixing to get dimension Y.Cut the support arm to the required length
X according to the formula X=(L-Y)+25mm(L is the original length of the support arm bar)

Step 3.8 Fit the support arm wall fixing onto the support arm bar before inserting the support arm bar onto the glass clamp,
move the wall fixing to the wall and level the support arm bar, mark the postion of the wall fixing onto the wall.Drill
through the marked position on the wall using a 6mm masonry drill bit and insert the wall plug(part 24).Fix the
wall fixing onto the wall using screw ST 4X30(Diagram 3.8).

Insert the support arm bar to the wall fixing,pull the bar out from the wall fixing to insert into the glass clamp, then
secure the support arm bar together with the glass clamp and wall fixing using M5 x6 grub screws.
Step 3.9 Fit a soft head (part 28) onto the roller stopper (part 31),then slide the door panel to ensure it touches the soft
head on the bottom rail end fixing (Diagram 3.9), fit the roller stopper onto the door panel, ensure the soft head
on the roller stopper touches the glass clamp then secure the roller stopper onto the door panel using M10x6
grub screw(Diagram 3.9).
Press the closing bubble seal (Part 5) into the wall profile channel, then fit the wall profile top cap(part 1) onto the
wall profile(part 2)
Fit the bottom strip end cap(part 13) onto the bottom strip.(Diagram 3.11)
Step 3.11 )
Press the roller screw cap to cover the screws (Diagram 3.12).
Step 3.12 £t the ring handle(part 20) onto the door panel. (Diagram 3.13).
Step 3.13 Fit the cover cap onto the roller stopper and glass clamp.
Step 3.14

Step 3.10



=
f
i

Step 3.15-Cut the seal

““ \

— 7/
7/

\ 4 \. J

Step 3.15 We do not recommend fitting the vertical seal (Part 7 ) onto the fixed panel as the overlap between the fixed panel
and door panel will be sufficient to avoid any leaks.If you do decide to fit vertical seal please ensure you cut it as
detailed in diagram 3.15. to avoid any obstruction to the handle or rollers.

Step 3.16 Fit the wall profiletop cap( Part 1) onto the wall profile.

Applying Silicone Sealant

Sealing Inside _

DO NOT USE THE | 5o e oo a0 ol romtane: b o
ENCLOSURE FOR | {or0 e el profis o the bottom between the wall profie
24 HOURS AFTER and tiles on both sides. Also seal glgng the bottom where the
SEALING erorzz ;ze; y“::) ritg;ﬁ}c/b r(S)::}Ia(_:!&the joints between the bottom




SLIDING DOOR INSTRUCTION

| COMPONENTS AND BOX CONTENTS |

185 6 26252423 27 21 19
- ,.‘_J < ! |
1 _ 9 1.88
2
- : 28
~ s 16
o 4
7
e T
3
» S
S ~
i . 15
8 - &
= S,
29
10 =
N .
12 -
= 14
13
Note: Part 29 is packed and purchased separately, please make sure -,
\_ you have ordered this if you are fitting a sliding door in recess. /
Box Contents
No. Description Qty | No. Description Qty
1 Wall Profile TopCap 2 16 Support Arm Wall Fixing 2
2 Wall Profile 2 17 TP iece 1
3 Fixed Panel 1 18 Allen Grub Screw M5x5 3
4 Door Panel 1 19 Support Ar m Tube(Long) 1
5 Closing Seal 2 20 Glass Clamp 1
6 Fixed Panel Fixing Seal 1 21 Grub Screw M6x5 3
7 Vertical Seal(O ptional) 1 22 Grub Screw M10x6 1
° Wall Plug 10 | 23 Soft Head 1
9 ST Screw 4x30 10 | <% Grub Screw M10x6 1
-~ Bottom Rail End Cap (L/R) 2 > Stopper Screw Cover 1
o Bottom Strip 1 -0 Roller Stopper(L/R) 1
- Bottom Rail 1T [ Support Arm Tube(Short) 7
4": Bottom Strip End Cap 1 :: Glass Clamp Screw Cap 1
1'; Roller Set 2 ““ | Closing wall profile (purchased separately) 1
Handle 1




FIXING KIT COMPONENTS, SITE CONDITIONS
SLIDING DOOR

( ~\
®=._  Support Arm x1
'I'E-- . -:""-'.
e T
Long Barx1 =---=====-- =
ShortBar X1 -=-=cemeeau= 5_-'_:."-:-::-':'-:_
= "?]
Support arm glass clamp x1 [q“[
Wall Fixing X2 - === =====-~- F\'- :l
Allen Screw M5 x1 =--=----- @
Allen Screw M6 x3 -« =« - - &
Allen Screw M10 x1« =« ==« =
T Piece X1 sessesnnnasans @
Glass Clamp Cover Cap x1 - -- "‘1]
- S

Ly
R

p
T

O

Wall Profile Top Cap Roller ClosingBubble Seal
x2 x2
x2
© =
Han dle Bottom Strip End Cap
x1 L/R x2
%ﬁf Ty
Screw ST 4X30 Wall Plug Fixed panel Fixing Seal

x10 x10 x1

I

Roller Stopper

RollerStopper L/R
Cover Cap x1 x1

Soft head

x1

IMPORTANT - Missing Components

Pleasecheckthisproductformissingcomponentsprior to installation.

For spare parts visit www.aquaiproducts.co.uk

IMPORTANT - Installation site

1. Ensure the topsurface ofthe shower tray on which the enclosure will be installed is level in every direction.

2. The tiles or other wall finishing should be effectively sealed at tray edges.

3. Tiles should extend at least to the corner of the tray and a minimum of 2.0 meters from the top of thetray.

PROCEDURE

TRAY MUST BE 100% LEVEL IN ALL DIRECTIONS

Ensure the shower tray is leve! in all directions and is

properly sealed to the wall. The wall musl be liled down to

the top edge of the fray. Do not angle out bottom tile.

TRAY MUST BE SEALED FULLY AROUND WHERE THE

TRAY MEETS THE WALL.

10



pueH Jybry

puEH Yo

Note:The product can be constructed either way up, for left or right hand opening.This instruction is showing a Left
\ hand opening.IMPORTANT :if you are fitting the optional closing seal please refer to the steps on page 25. Y,

' ™

?

]
5

i
[ 5

g

el i il

#

Step 1.1 Fit the Bottom Rail End Cap L/R (Part 10) on the fixed panel wall profile (Part 2) and closing wall profile(Part 29)
from the bottom. Place the wall profiles onto they tray,roughly 10mm away from the front edge of the end cap.
Level the wall profiles using a spirit level then mark the profile through the pre-drill holes on the wall profiles.
(Diagram 1.1)

Note: [Ensure the channel with the pre-drilled holes is faci n goutwards when placing the Wall Profile onto the tray.
Step 1.2 Remove the wall profiles and drill the marked points using a 6mm masonry drill bit.(Diagram 1.2)

Step 1.3 Insert wall plugs(Part 8) then secure the fixed panel wall profile onto the wall using ST4X30 screws x4
(Part 9)(Diagram 1.3)

1"



Outsid

v
{  ——

nt

!

Step 2.1 Insert the bottom rail into the end cap L(Part 10) fitted on the fixed panel wall profile (Diagram 2.1)

Press the bottom strip end cap R(part 10) onto the closing profile (part 29),then sit the closing wall profile
Step 2.2 onto the bottom rail against the holes drilled on the wall.Secure the closing wall profile onto the wall using
ST 4x30 screws x4(Part 9).Once this is done press the closing seals(part 5) into the wall profile (part 2) and

closing profile

Step 2.3 ((lpaar'étfa@'liﬁthe fixed panel(Part3) and insert into the wall Profile groove, it allows 0-20mm for theadjustment.
Once the fixed panel is in required adjustment, place the bottom strip(Part 11) onto the tray and mark a line
onto the profile. Cut the profile through the marked line to get required length.(Diagram 2.3)

Step 2.4 Remove the fixed panel then replace the bottom strip (Part 11) onto the tray, ensure the bottom strip groove is
level to the wall profile groove on the inside face (Diagram 2.4A). Mark the line on the tray for the bottom strip
position once you have ensured it is straight. (Diagram 2.4B)

Step 2.5 Drop the silicone sealant onto the bottom side of the bottom strip,take the 3M adhesive tape back away then
carefully place it onto the tray against the marked line.(Diagram 2.5)

Step 2.6 Drop the silicone sealant into the groove of the bottom strip(Diagram 2.6A) then carefully lift the fixed panel

and insert it into the bottom strip then push it onto the fixed panel wall profile.After the fixed panel has been
placed at the required position insert the fixing seal from top to bottom to secure the fixed panel onto the

wall profile (Diagram 2.6B).
12



Step 3.1 A ssemble the bottom rollers onto the door panel.Ensure the gasket

Step 3.2 C arefully lift the door panel and assemble onto the bottom rail, fit

IMPORTANT:TURN THE ROLLER BODY TO ENSURE THE EDGE

has been used on both faces of the glass.

the glass clamp((part 20) to hold the fixed panel and door panel in

place.

OF THE CUT ON THE ROLLER BOTTOM DOES NOT TOUCH BOTTOM

RAIL TOP SURFACE BEFORE SLIDING THE DOOR PANEL.

e

3.1

( O,
O I ws=

X,

Step 3.3 Adjust the roller to raise or lower the door panel to ensure it does not touch the ground or tray(Diagram 3.3),
also ensure that the overlap of the fixed panel and door panel is equal at the top and the bottom.Slide the door

panel to ensure it's running smoothly.

Tips:If the door panel does not run smoothly please check that the bottom rail is 100% straight,and check that the

wall profile is 100% level.

13



EPto M Bl Y T Yty

3.7

Step 3.4 Ensure the glass clamp is in about 10mm away from the fixed panel edge then attach it onto the fixed panel using
M10 x6 grub screw(Part 24).Fit a soft head (part 23) onto the roller stopper (part 26),then slide the door panel to
ensure it runs into the closing wall profile fully,fit the roller stopper onto the door panel,ensure the soft head on the
roller stopper touches the glass clamp then secure the roller stopper onto the door panel using M10x6 grub screw.
Insert the short support arm bar (part 27) to the glass clamp then secure it together using the grub screw M5x5
screw.Once these all done press the cover cap onto the roller stopper and glass clamp.(Diagram 3.4)

Step 3.5 Measure the dimension from wall left to the wall righ t to get the dimension Y, cut the long support arm bar (no.19)
to the required length X according to the formula X=Y-35mm.

Step 3.6 Fit the T piece (part 17) and wall fixings (part 16) onto the long support arm bar then fit it together with the short

support arm bar by the T piece,make sure the long support arm is level with the short support arm by the spirit
level then mark the line onto the wall using the pencil. Drill through the marked position on the wall using a 6mm
masonry drill bit and insert the wall plug (part 8). Fix the wall fixings onto the wall using screw ST 4x30.Re-fit the
support arm onto the wall fixings and secure it together using the M5x5 grub screw.Secure the T piece together
with the long and short support arm bar using x3 M6x5 grub screws.

Step 3.7 Fit the wall profile top caps onto the fixed panel wall profile and closing wall profile.
Step 3.8 Fit the ring handle(part 15) onto the door panel. (Diagram 3.8)

Step 3.9 Fit the bottom strip end cap(part 13) onto the bottom strip.(Diagram 3.9)

Step 3.10 Press the roller screw cap to cover the screws (Diagram 3.10).

14



:

7/ I
i

Step 3.13-Cut the seal \,

Step 3.11 We do not recommend fitting the vertical seal (Part 7 ) onto the fixed panel as the overlap between the fixed panel

and door panel will be sufficient to avoid any leaks.If you do decide to fit vertical seal please ensure you cut it as

detailed in diagram 3.13 to avoid any obstruction to the handle or rollers.

DO NOT USE THE
ENCLOSURE FOR
24 HOURS AFTER
SEALING

Applying Silicone Sealant

Sealing Inside

Sealfrom the top of the wall profile to the bottom on the INSIDE
between the wall profile and the wall. IMPORTANT: Do not
apply sealant on inside of the tray. Sealing Outside Seal from
the top of the wall profile to the bottom between the wall profile
and tiles on both sides. Also seal along the bottom where the
frame meets the tray. Seal the joints between the bottom
profile and any upright profiles.

15



SLIDING ENCLOSURE INSTRUCTION

|  COMPONENTS AND BOX CONTENTS |

P4
o

' Y
28 25242022 19 23 17
~ ! 35 29 28
= 5 Lo18 |
28 |
12 w0 ' 20 |
2 - 1
N T el 2
- H“‘m : -' }j‘;% ----- -------27
26 34 - 30
- - Rp——c
3 -~ .20
y/mE—| - IS ET—— I R
5 -
8 ~
6 T N N ST Y Ty | O 15
[t b i 15 . P
Ouzemi
s o i —_ srii-36
B I 0 I O [} ¥ 5 — B —— 37
| O N R (| N N [l [ =1 SoeSreNtam:) [ e LERe
10 o
11 -
12 L -
13 9
' . . //_ ................ 33
14 e e é ----------------------------- -32
i
N 7
Box Contents
. Description Qty No. Description Qty
1 WallProfile TopCap 2 20 Grub Screw M10x6 3
2 Wall Profile 1 21 Glass Clamp Screw Cap 1
3 Fixed Panel 1 22 Soft Head 1
4 Door Panel 1 23 Grub Screw M6x5 3
5 Closing Seal 1 24 Stopper Screw Cover 1
6 Fixed Panel Fixing Seal 1 25 Roller S toppe r 2(L/R)
7 Vertical Seal(O ptional) 1 26 T Piece 1
8 ST Screw 4x30 10 27 Glass Clamp(Side Panel) 1
9 Wall Plug 10 28 Allen Grub Screw M5x5 3
10 Bottom Rail End Cap (L/R) 2 29 GlassC lamp (Side P anel) Screw Cap 1
" Bottom Strip 1 30 Side Panel Wall Profile 1
g Bottom Rail 1 g; Side Panel Glass 1
14 Bottom Strip End Cap 1 33 Side Panel Bottom Fixing 2(L/R)
15 Roller Set 2 34 Round Cover Cap 1
16 Handle 1 35 Door Panel Magnet Profile Top Cap 2(L/R)
17 Support Arm Wall Fixing 1 36 Side Panel Magnet Profile Top Cap 2ALR)
Supp ort Ar m Tube (Long) 1 37 Door Panel Magnet Profile 1
18 Glass Clamp 1 Magnet Strip
1
19 Supp ort Arm Tube (Short) 1 38 Side Panel Magnet Profile




FIXING KIT COMPONENTS, SITE CONDITION

SLIDING ENCLOSURE

FIXING KIT-SLIDING WETROOM

Ir B o
& - Support Arm x1 @ < [ H
,_,;'\r* .
'-ﬁ" = Wall Proflle Top Cap Roller Cover Cap CIosmgBubee Seal
_,F—_,:-"—"Eﬁa g
Long Bar x1 ==-====--=-== = @ ‘:[ﬁl
Short Bar x1 - -«----nnnx- = “‘iﬂ: @ﬂ | [mj
_::_._-_.__] Han dle Bottom Strip End Cap  Bottom Strip End
Support arm glass clamp x1 [qj ” x1 L/R x1 Fixing x1
Wall Fixing X2 - - -~~~ -~ == :
9 F ] %;_; Ty, I
Allen Screw M5 x1 -----=--- =
- Screw ST 4X30 Screw ST 4X4 0 Wall PlugFixed panel Fixing
Allen Screw M6 x3 « « = « =« =« = = x5 x1 X6 Sealxt
, B it S 3
Allen Screw M10 x1 =« -« - - - = 1 ﬁ A Form
Llesf el ] T
. | (@) | | r,, =
T Piece X1 «evascccnanans @ - | || L | ===
s Roller Stopper RollerStopper L/R Softhead
Glass Clamp Cover Cap x1 --- | ;] Cover Cap x1 X1
o x1
he J X J

FIXING KIT-SIDE PANEL

4 )
n.__\_‘- . e
c P [ I === |j
Cover Cap Bottom Fixing L/R Glass Clamp Cover DoorPanel Magnet Side Panel Magnet Vertical Seal
x1 X2 Cap x1 ProfileTop Caps (L/R) Profile Top Caps (L/R) x1
x1 x1
o
u_-"-‘J
Wall Profile Door Panel Ma.QHEt Side Panel Glass Clamp Screw ST 4X30 Wall Plug
Top Cap Magnet Profile Strip Magnet Profile x1 x5 x5
x1 x1 x1 x1
S S
IMPORTANT - Missing Components

Pleasecheckthisproductformissingcomponentsprior to installation.

For spare parts visit www.aquaiproducts.co.uk

IMPORTANT - Installation site

1. Ensure the topsurface ofthe shower tray on which the enclosure will be installed is level in every direction.

2. The tiles or other wall finishing should be effectively sealed at tray edges.

3. Tiles should extend at least to the

corner of the tray and a minimum of 2.0 meters from the top of thetray.

PROCEDURE

TRAY MUST BE 100% LEVEL IN ALL DIRECTIONS

Ensure the shower tray is level in all directions and is
properly sealed to the wall. The wall must be tiled down to
the top edge of the fray. Do not angle out bottom tile.

TRAY MUST BE SEALED FULLY AROUND WHERE THE
TRAY MEETS THE WALL.

17



pueH 1ybry

pue o1

Note:The product can be constructed either way up, for left or right hand opening.This instruction is showing a Left

\_ steps on page 26.

;
[ 5

J
5

?

e J/

Step 1.1 Fit the Bottom Rail End Cap L/R (Part 10) on the wall profile (Part 2) from the bottom. Place the Wall Profile onto
the tray, roughly 10mm away from the front edge of the end cap. Level the Wall Profile using a spirit level then
mark the profile through the pre-drill holes on the Wall Profile. (Diagram 1.1).

Note:  Ensure the channel with the pre-drill holes is facing outwards when placing the Wall Profile onto the tray.

Step 1.2Remove the wall profile and drill the marked points using a 6mm masonry drill bit.(Diagram 1.2)

Step 1.3 Insert wall plugs(Part 9) then secure the wall profile onto the wall using ST4X30 screws x4 (Part 8)(Diagram 1.3)

hand opening.IMPORTANT:if you are fitting your Sliding Enclosure with our optional corner postplease refer tothj

18



2.1 Outside

Ei ——— r_ ‘
Fixed Panel/Face Inside é-zomm adjustment
b A
2

.1
-— |

-

L S/

Step 2.1 Press the closing seal (part 5) in to the wall profile.Carefully lift the fixed panel (Part 3) and insert into the wall Profile

groove,it allows 0-20mm for the adjustment.Once the fixed panel is in required adjustment, place the bottom strip
(Part 11) onto the tray and mark a line onto the profile. Cut the profile through the marked line to get required

length.(Diagram 2.1)

Step 2.2 Remove the fixed panel then replace the bottom strip (Part 11) onto the tray, ensure the bottom strip groove is
level to the wall profile groove on the inside face (Diagram 2.2A). Mark the line on the tray for the bottom strip
position once you have ensured it is straight. (Diagram 2.2B)

Step 2.3 Drop the silicone sealant onto the bottom side of the bottom strip,take the 3M adhesive tape back away then
carefully place it onto the tray against the marked line.(Diagram 2.3)

Step 2.4 Drop the silicone sealant into the groove of the bottom strip(Diagram 2.4) then carefully lift the fixed panel
and insert it into the bottom strip then push it onto the wall profile.After the fixed panel has been placed at the
required position insert the fixing seal from top to bottom to secure the fixed panel onto the wall profile.
(Diagram 2.5)

19



L _ : : J

Step 3.1 Place the side panel Wall Profile (part 30) onto the tray,roughly 10mm away from the front edge of the end cap.
Level the wall profile using a spirit level then mark the profile through the pre-drill holes on the wall profile
(Diagram 3.1)

Step 3.2 Remove the wall profile and drill the marked poin.ts using a 6mm masonry drill bit, once this is done insert the wall
plugs.(Diagram 3.2)
Step 3.3 Secure the wall profile onto the wall using ST4X30 screw x4.(Diagram 3.3)

Step 4.1 Carefully lift the Side Panel Glass (Part 31) onto the tray,insert it into the wall profile channel. It allows 20mm for
the adjustment.(Diagram 4.1)

Cut the bottom rail(part 12) 25mm away then insert it into the end cap L(Part 10) fitted on the fixed panel wall profile.
Step 4.2 Drop a little bit silicone sealant into the groove of the side panel bottom fixing (part 32), then fit it onto the side panel gl

and bottom rail,drill the hole on the tray/floor then insert the wall plug,attach it onto the tray/floor using screw ST 4X30
(Diagram 4.2)

Step 4.3 Insert thefixing seal from top to bottom to fix the side panel glass onto the wall profile from inside of the enclosure.

20



Step 5.1 A ssemble the bottom rollers onto the door panel,ensure the
gasket has been used on both faces of the glass.(Diagram 5.1)

Step 5.2 C arefully lift the door panel and assemble onto the bottom rail,
fit the glass clamp(part 18) to hold the fixed panel and door
panel in place.

IMPORTANT:TURN THE ROLLER BODY TO ENSURE THE EDGE
OF THE CUT ON THE ROLLER BOTTOM DOES NOT TOUCH THE
BOTTOM RAIL TOP SURFACE BEFORE SLIDING THE DOOR PANEL.

©OF -]
L o @ !_'_'_7_'_'__——'_'_'_

5.1
iy . J
& R
L P4

Step 5.3 Adjust the roller to raise or lower the door panel to ensure it does not touch the ground or tray(Diagram 5.3),
also ensure that the overlap of the fixed panel and door panel is equal at the top and the bottom.Slide the door

panel to ensure it’s running smoothly.

Tips:If the door panel does not run smoothly please check that the bottom rail is 100% straight,and check that the

wall profile is 100% level.

21



Step 6.1

Step 6.2

Step 6.3

Step 6.4

Step 6.5

Step 6.6
Step 6.7

Step 6.8

Take the 3M adhesive tape back away then drop the silicone sealant onto the groove of the magnet profiles, fit
the magnet profile(part 36/38) onto the door panel and side panel.Once this is done fit the top cap onto the magnet
profile.(Diagram 6.1).

Note:lgnorethisstepifyouplantofitthecornerpostontothesidepanel.

Ensure the glass clamp is in about 10mm away from the fixed panel edge then attach it onto the fixed panel using
M10 x6 grub screw(Part 20). Fit a soft head (part 22) onto the roller stopper (part 25),then slide the door panel to
ensure the magnet profile on the door panel and side panel touchs each other then fit the roller stopper onto the
door panel,ensure the soft head on the roller stopper touches the glass clamp then secure the roller stopper onto
the door panel using M10x6 grub screw. Once these all done press the cover cap onto the roller stop and glass
clamp. Insert the short support arm bar (part 19) to the glass clamp then secure it together using the grub screw
M5x5 (Diagram 6.2)

Fit the side panel glass cla m.p (Part 27) onto the side panel, measure the dimension from wall to the edge of the
side panel glass clamp to get the dimension Y, cut the long support arm bar (part 17) to the required length X
according to the formula X=Y-10mm.

Fit the T piece (part 26) and wall fixings (part 16) onto the long support arm bar then fit it together with the short
support arm bar by the T piece,make sure the long support arm is level with the short support arm by the spirit
level then mark the line onto the wall using the pencil. Drill through the marked position on the wall using a 6mm
masonry drill bit and insert the wall plug (part 9). Fix the wall fixings onto the wall using screw ST 4x30.Re-fit the
support arm onto the wall fixing, pull the support arm out from the wall fixing and insert it into the side panel
glass clamp. Secure the support arm bar together with the wall fixing and sid panel glass clamp.

using M5x5 grub screws. Next secure the T piece together with the long and short support arm bar using

x3 M6x5 grub screws.(Diagram 6.4).

fit the wall profile top caps onto the fixed panel wall profile and side panel wall profile.(Diagram 6.5)
Fit the ring handle(part 15) onto the door panel. (Diagram 6.6)
Press the roller screw cap to cover the screws (Diagram 6.7).

Fit the bottom strip end cap(part 13) onto the bottom strip.(Diagram 6.8)
22



L

Step 7-Cut the seal

—

hya

/. I

i

Step 7 We do not recommend fitting the vertical seal
(Part 7 in the sliding wetroom carton) onto the
fixed panel as the overlap between the fixed
panel and door panel will b e sufficient to avoid
any leaks. If you do decide to fit the vertical seal
please ensure you cut it as detailed in Diagram 9
to avoid any obstruction to the handle or rollers.

DO NOT USE THE
ENCLOSURE FOR
24 HOURS AFTER
SEALING

Applying Silicone Sealant

Sealing Inside

Sealfrom the top of the wall profile to the bottom on the INSIDE
between the wall profile and the wall. IMPORTANT: Do not
apply sealant on inside of the tray. Sealing Outside Seal from
the top of the wall profile to the bottom between the wall profile
and tiles on both sides. Also seal along the bottom where the
frame meets the tray. Seal the joints between the bottom
profile and any upright profiles.

23



CLOSING SEAL INSTRUCTION

pueH 1ybry

pueH 3o

. #
Note:Use the closing seal when the door is closed against a window,the product can be constructed either way up for left or right
hand opening.This instructions is showing a left hand opening. Follow the step 3.6-3.9 on page 7 to install the support arm

ifno posltion to fix the wall fixing on the window side..

[ R
/,//‘\
/f/_ﬁfl—"/
\ e s
| /

Follow the step 3.13 on page 15 to fit the closing seal as shown on the diagram above. Use the closing seal to replace
part 29 when the door closing against the window.

25



OPTIONAL CORNER POST INSTRUCTION

~
. X
= g
I —
o) I
2 2
(o}
Note:the product can be constructed either way up, for left or right hand opening.This instruction is showing a Left
hand opening.
A
Follow the steps from 4.1 on page 20 to fit the optional corner post as the instructions below,ignore the parts 35,36 ai
37 when the door is fitted with a corner post.
rf

'y

R

Step 4.2 Cut down the bottom rail(part 12) by 25mm away then insert it into the end cap L(Part 10) fitted on the fixed panel wal
Fit the correct hand of the bottom piece onto the corner post from the bottom. Then fit the corner post onto the side p:

drop it onto the bottom rail.(Diagram 4.2).

Step 4.3 Insert the fixing seal from top to bottom to fix the side panel glass onto the wall profile from inside of the enclosure.
Insert the fixing seal from top to botom to fix the corner post onto the side panel from side of the enclosure.Fit the

cap onto the corner post.(Diagram 4.3).

Follow the other steps from page 21 on the main instruction to complete the installation.
26



